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(ii) 8 x(40-5) () 510 x (-45) + (-5 10) x 55
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i1 EXERCISE - 13 .

%
Find the product of :-
@) 15)x0 @) 39!
(i) (~13) x (-12) @) 20%16
(vi) (-8) x (-5) %9

(V) (=15) x (—4) x (-5)
wii) (=2) x (=5) x (4) x (~10)

(i) Verify:15x[9+(-6)]=(15x9)+
(ii) Verify : 18 x [(-5) + (-] = [(18 % -5)
Fill in the blanks :-

@ 15x[_]=0

@) -25x[ |=25

Gii) (-15)x18=[ _|x(19)

vy (10)x [(-15) + (5] =10 x[__]+ 10 x5)

@ (O)x[5)x18)=(6)x[ _|x-18

Find product using properties

(i) 15 x(=20) +(-20) x (5 (i) (15x8)x50 ~

(iii) 8 x (40-5) (iv) 510 x (—45) + (-510) x 55
In a class test containing 15 questions, 2 marks are awarded for every correc
(~1) mark awarded for every incorrect answer and 0 mark for (‘]‘ﬁestions not attempted.

() Kritika gets 5 correct and 10 incorrect answers. What is her score ?

(viii) (-8) X 0+ [(-5) x (-4)]

(15 % (-6)]
1+ [18 % (4)]

t answer and

(ii) Rohan gets 7 correct and 7 incorrect answers out of 14 questions he attempted. What
is his score?
Multiple Choice Questions :-
(i) (-19) - (13) is equal to
(a) =32 (b) 6
@© -6 (d) none of these
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(i) (=6) x (=5) x 0 is equal to —— e
:a) 0 ) -6
c) =5 (d)y 30
(iif) 0+ (=10) is equal to
@ O b -l
. (© -10 (d) none of these
(iv) (=33) x 102 + (=33) x (=2) is equal to
(@ 3300 (b) -3300
(c) 3432 d) -3432
(v) 101 x(=1) +0 x (1) is equal to
(@ -101 () 101

() -102 @ 102
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v | : oyt § fewrd fawt, Afret § g7 a9

uET 2 : TJEEEE § UETSHA Afenm & gy T fad

:18 WY 12 O PESES UITT AT |

= 18 MF 12 T TISERE

18x12=216

1. E T Ry et & Afewrt § g &9 o
SOl 1 (=50) M (-8) ET PEAES UFTET|

= -50WT -8 T JSEES
=50 x -8 =400

2 ou-g fem T e A € ge -
v | : 5T & few fast, Afuwre § g7 a9
v 2 - TEAEE § faerava Afer & gu fefe ok

Soie 115 w3 -12 O PEERE UTT AT |

T 15WI -2 F T aeE

15%-12 = (15x12)
= -180

ﬁxﬂ"tmwmaﬂz‘tﬁdmdmww.'\'cgllhrlnlcgeral

faw At 0 faerava fyas
fawn migwra g a3 M3 fag

Ayas Aftmiet €t gI2T € P& (Properties of Multipli

2

Hfnrat o gawEs ur g9 weh, ufost € Ayaw Aferet §
MWMMMMI

(—a) X (-b) x (~¢) = [(-a)x(-b)] X (=)

= (axb)x(=¢)

= =(axhxc)

10 afes - Vil

Beraan-4 1 (=5) x (4) x (-3) T & uT & |
T8 : (-5)x (-4 x(-3)

(-5 x—4) x (-3)
(20) x (-3)
-(20%3)

- 60

o won

ion of Integers)

RNE & : 753 o W b ¥ AUds ffimrat a5 It a x b 2 fET fyes A 39t 1)
Guaas T -5 T § Augs Afewrer 35 -5 x 8 = —40 ¥ e s Afr &
FH-TEEET g : 79d a WI b T Ayes Afemiret U5 3t a x b3 b x a NS T

F<,axb=bxa
=

2x4 = 4x2=8
Afgeagr g= : f3w fiygs Afimr="q, b w3 c B,

(axb)xc or(axb)xc=(axc)xb

ax(bxc) =
Gerges = Tx(6x8) = (7x6)x8=336
&garat g (Distributive Property) :
(a) =T & 7= §us FFat g (Distributive property of multiplication over addition)
f3& fyes Aftret o, b W3 c BET
ax(b+c) = (axb)+(axc)
Geaes = 10x(5+2) = (10x5)+(10x2)
= 50+20
= 70

(b) FETE WS ‘I B I (Distributive property of multiplication over subtraction)
& fygs Afimrst a, b T c B8
ax(b-¢)

Goges = 6x(7-4)

(axb)-(axc)
(6x7)—(6x4)

LU B | S|

42-24
18
frze 58 g :
faw fyas Afwnr o set
ax0 = Oxa=0
Guaes = 7x0 = 0x7=0
FJET3IHA IIAHT :
fai Ayes Afunr o Bt
axl = Ilxag=a
Geaes = 8x1 = 1x8=8

fygs Afirret § wrat &6 g7 995 BE vt @y-wetedr, Afgetear wE egadl
et ©t 93 9 Aae T

Geas =7 50x8+50%x-2 = 50x(8-2)

50x6
300



1775 Intergors [T
Multiplication of two integers -

Multiplication Multiplication
of integers of integers
with same sign with different sign

1. Multiplication of integers with same sign :-
Step 1 : Multiply the numbers regardless of their sign.
Step 2 : Write the product with a positive sign.

EXample-1 : Find the product of 18 and 12.

Sol : Multiply the given Integer 18 and 12 we get
18x12=216
EXample-2; Find the product of (-50) and (-8),
Sol : Multiply the given Integer ~50 and -8 we get
=50 x -8 =400
2. Multiplication of integers with different sign :-
Step 1 : Multiply the numbers regardless of their sign.
Step 2 : Write the product with a negative sign.
EXample-3 : Find product of 15 and -12.
Sol : Multiply given Integers 15 and ~12 we get

15x-12 = (15x12)
= =180

PRODUCT OF THREE OR MORE NEGATIVE INTEGERS
To find the product of three or more negative integers we can simply take two integers at a time
and follow the rules as for multiplication of two integers.
(~a) x (D) x () = [(-a)x(-b)] % ()
(axb)x ()
—(axbxc)

- Scarmea witn Carna(

pen o *'-"! "‘Mh_w

EXample-4 ; Find the product of (=5) x (~4) x (=3)
5ol & (=5) x (-4) x (-3)
(-5 x—4) % (=3)
(20) % (=3)
~(20x3)
= -60

Tnopsnns.s OF MULTIPLICATION OF INTEGERS
+ Closure property : 1f a and b are two integers then a x b is also an integer
For example -5 and § are integers then -5 x 8 = —40 is also an integer

2. Cnmmmnllv i
e property : If g ; _Then ax b .
axb=bxq roperty : If a and b are two integers n :ssamcagbqu :

For example 2x4 = 4x2=8

3 A A
ssoclative property for multiplication : If o, b and c are three integers then
For example ax(bxc) = (axb)xc or(axb)xc=(axc)xp
& Disrmagt — Tx(6x8) = (7x6)x8=336
@ Distribug . ; three integer;
rives 1Ve property of multiplication over addition. If @, b and c are inf
ax(b+e) =
i (axb)+(axc)
Or example 10x(5+2) = (10x5) +(10x2)
= 50+20
(B)  Distributive Property of multip|; i o~
P Plication over subtraction If a,band ¢ are three integers
ax(b-¢) = (axb) -
For example 6x(7-4) = (5,(1)__52::))
= 42-2
5. Multiplicative Property of zerop -
For any Integer a we have
Forexamplc ;:g f gxnﬂ,
6. Multiplicative Identity S
For any integer a we have
axl = =
For example 8 o
For easier multiplicati ool o
ion i iati
oo We can use commutative associative and disprin,. .
o s'“li‘-ltlm-; Propert;
or example S0x8+50x-2 = S0x(8-2)
= 50x6

300



